keypad code
int K=28; // Kpin of 4*4 button pad is connected to the 4th digital pin of
Ardui no nega.
lilt L =9; // L pinof 4*4 button pad is connected to the 5th digital pin of
Ardui no nega.
hit M= 10; 7/ Mpin of 4*4 button pad is connected to the 6th digital pin of
Ar dui no nmega.
int N- 11; /7 N pinof 4*4 button pad is connected to the 7th digital pin of
Ardui no nega.

int O =4; // O pin of 4*4 button pad is connected to the Sth digital pin of
Ardui no nega.
int P=5; // Ppinof 4*4 button pad is connected to the 9th digital pin of
Ardui no mega.
int Q=6; // Qpin of 4*4 button pad is connected to the 10th digital pin of
Ar dui no nmega.
int R=7; // Rpinof 4*4 button pad is connected to the 11th digital pin of
Ardui no nmega.

nt DO=0; // DO pin of 4511 is connected to the Oth digital pin of arduino
nt DI 1; // D1l pin of 4511 is connected to the 1st digital pin of arduino
nt D2.-. 2; // D2 pin of 4511 is connected to the 2nd digital pin of arduino
nt D3 = 3; // D3 pin of 4511 is connected to the 3rd digital pin of arduino

int LE = 12; // LE pin of 4511 is connected to the 12th digital pin of arduino

nt 0 val ue;
nt P_val ue;
nt Q val ue;
nt R val ue;

int read val ue;

[l the setup routine runs once when you press reset:
void setup2() {

pi nMode( K, OUTPUT) ; 17 Declare K pin as OUTPUT
pi nMbde(L, OUTPUT); /7 Declare L pin as OUTPUT
pi nMbde(M OUTPUT) ; /] Declare M pin as OUTPUT
pi nMbde( N, QOUTPUT) ; /] Declare N pin as OUTPUT
pi nMode( 0, | NPUT); /1 Declare O pin as | NPUT
pi nMode( P, 1 NPUT); /] Declare P pin as | NPUT
pi nMbde(Q | NPUT) ; /1 Declare Q pin as | NPUT
pi nMbde( R, 1 NPUT); /] Declare R pin as | NPUT
pi nMbde( LE, OUTPUT) ; /] Declare LE pin as OUTPUT
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pi nMode( DO, QOUTPUT) ; Il Declare DO pin as OUTPUT
pi nMode( D1, OUTPUT); Il Declare D1 pin as OUTPUT
pi nMode( D2, OUTPUT); Il Declare D2 pin as OUTPUT
pi nMode(D3, OUTPUT); If Declare D3 pin as OUTPUT

/1 I'NITIALLY SEND LOW TO QUTPUT PINS (K, L, Mand N

digital Wite(K, LOW;
digital Wite(L, LON;
digitalWite(M LOW;
digital Wite(N, LOW;

voi d seven_segnent _di spl ay(int numnber)
{
[* i f(nunber==1)
1>/
digital Wite(LE, LOW;
digitalWite(DO H GH);
digital Wite(D1, LOW;
digital Wite(D2, LOW;
digital Wite(D3, LOW;
It )
return;

1

[l the loop routine runs over and over again forever:
void loop2() 1

| abel ;
/1 I'NITIALLY SEND LOW TO QUTPUT PINS (K, L, Mand N) IN THE WH LE LOOP

digital Wite(K, LOW;
digital Wite(L, LOWN;
digitalWite(M LOW;
digital Wite(N, LOW;

0_val ue=di gital Read(0); // READ VALUE FROM O
P_val ue=di gi tal Read(P); // READ VALUE FROM P
Qvalue=digital Read(Q; // READ VALUE FROM Q
R val ue=digital Read(R); // READ VALUE FROM R
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i f(0_val ue==0) /1 |F ANY SWTCH IN SWTCHES 1, 4, 7 and '*' |S PRESSED 0_val ue
W LL BECOME 0O

{

// SEND LONTO K AND HHGH TO L, M AND N
digitalWite(K, LOW;
digitalWite(L, HGH;
digitalWite(M H GH);
digitalWite(N, HGH;

/1 I'F VALUE READ FROM 0 IS 0, SW TCH PRESSED WLL BE 1
read_val ue=di gi t al Read(0);
{ f (read_val ue==0)

/1 Display 1 in seven segnment display, 03 D2 D1 DO (0 0 0 1)
digitalWite(LE, LOWN; // Displayed nunber will change if LEis LOW
digital Wite(DO, H GH);
digital Wite(Dl, LOW;
digitalWite(D2, LOW;
digitalWite(D3, LOWN;
digitalWite(LE, HGH); // Displayed nunmber will not change if LEis H GH
del ay(500);

lgoto | abel ;

// SEND LONTO L AND HHGH TO K, M AND N
digitalWite(K, H GH;
digital Wite(L, LOWN;
digitalWite(M HGH);
digitalWite(N, HGH;

/1 I'F VALUE READ FROM 0 IS 0, SW TCH PRESSED WLL BE 4
read_val ue=di gi t al Read(0);
i f(read_val ue==0)

Il Display 4 in seven segnment display, D3 D2 D1 DO (0 1 0 0)
digitalWite(LE, LOWN; // Displayed nunber will change if LEis LOW
digitalWite(DO LOW;
digitalWite(D1, LOW;
digitalWite(D2, HGH;
digitalWite(D3, LOWN;
digitalWite(LE, HGH); // Displayed nunmber will not change if LEis H GH
del ay(500);

lgoto | abel ;

[/ SEND LOWTO M AND HHGH TO K, L AND N
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digital Wite(K, H GH);
digital Wite(L, H GH);
digitalWite(M LOW;
digital Wite(N, H GH);

/! I|F VALUE READ FROM 0 IS 0, SWTCH PRESSED WLL BE 7
read_val ue=di gi t al Read(0);
i f(read_val ue==0)

/1l Display 7 in seven segnent display, D3 D2 DO DO (0 1 1 1)

digital Wite(LE, LOWN; // Displayed nunber will change if LE is LOW
digital Wite(00, H GH);

digital Wite(D1, H GH);

digital Wite(D2, H GH);

digital Wite(D3, LOW;

digital Wite(LE, HGH); // Displayed nunber will not change if LE is H GH
del ay(500);

goto | abel;

// SEND LOWTO N AND HGH TO K, L AND M
digitalWite(K, H GH);
digitalWite(L, H GH);
digitalWite(M H GH);
digital Wite(N, LON;

/1 1F VALUE READ FROM O IS 0, SWTCH PRESSED W LL BE "rf
read_val ue=di gi t al Read(0) ;
i f(read_val ue==0)

goto | abel;

el se i f(P_val ue==0) /1 TF ANY SWTCH IN SWTCHES 2, 5, 8 and 0 IS PRESSED P_val ue
W LL BECOVE 0O

/1 SEND LONTO K AND HHGH TO L, M AND N
digital Wite(K, LOW;
digital Wite(L, H GH);
digital Wite(M H GH);
digitalWite(N, H GH);

/1 1'F VALUE READ FROM P IS 0, SWTCH PRESSED WLL BE 2
read_val ue=di gi t al Read(P);

Page 4



keypad code
i f(read val ue==0)
{ /1 Display 2 in seven segnment display, D3 D2 D1 DO (0 0 1 0)
digital Wite(LE, LON; // Displayed nunber will change if LEis LOW
digital Wite(DO LOW;
digital Wite(D1, H GH);
digital Wite(D2, LOWN;
digital Wite(D3, LOW;
digital Wite(LE, HHGH); // D splayed number will not change if LEis H CH
del ay(500);
goto | abel;

// SEND LOW TO L AND HGH TO K, M AND N
digitalWite(K, HG;
digital Wite(L, LOW;
digitalWite(M H GH);
digitalWite(N, HGH;

/1l 1'F VALUE READ FROM P IS 0, SWTCH PRESSED WLL BE 5
read_val ue=di gi t al Read(P);
| f (read_val ue==0)

/] Display 5 in seven segnment display, 03 D2 D1 DO (0 1 0 1)

digital Wite(LE, LOWN; // D splayed nunmber will change if LE is LOW
digital Wite(DO H GH);

digital Wite(Dl, LOWN;

digitalWite(D2, H GH);

digital Wite(D3, LOW;

digitalWite(LE, HHGH); // Displayed number will not changeif LE is H GH
del ay(500);

goto | abel;

!

/1 SEND LONWTO M AND HHGH TO K, L AND N
digital Wite(K, H GH;
digital Wite(L, HGH;
digital Wite(M LOW;
digital Wite(N, H GH;

/1 1'F VALUE READ FROM P IS 0, SWTCH PRESSED WLL BE 8
read_val ue=di gi t al Read(P);
i.f (read_val ue==0)

/1 Display 8 in seven segnment display, 03 02 D1 DO (1 0 0 0)
digital Wite(LE, LON; // Displayed nunber will change if LEis LOW

Page 5



keypad code

digital Wite(DO, LOW;

digital Wite(D1, LOW;

digital Wite(D2, LOW;

digitalWite(D3, H GJ);

digital Wite(LE, HHGH); // Displayed nunber will not change if LE is H GH
del ay(500);

got o | abel ;

/1 SEND LOWTO N AND HGH TO K, L AND M
digital Wite(K, H GH);
digital Wite(L, H GH);
digitalWite(M H GH);
digital Wite(N, LOW;

/1 1'F VALUE READ FROM P IS 0, SW TCH PRESSED W LL BE O
read_val ue=di gi t al Read(P);
i f(read val ue-0)

/1 Display 0 in seven segnent display, D3 02 D1 DO (0 0 0 0)

digital Wite(LE, LOWN; // D splayed nunber will change if LE is LOW
digital Wite(DO, LOW;

digital Wite(D1, LOW;

digital Wite(D2, LOW;

digital Wite(D3, LOW;

digital Wite(LE, HHG&H); // Displayed number will not change if LE is H GH
del ay(500);

got o | abel ;

else if(Quvalue-0) // IF ANY SWTCH IN SWTCHES 3, 6, 9 and '4'" | S PRESSED
Q value WLL BECOVE O

/1 SEND LOWTO K AND HGH TO L, M AND N
digitalWite(K, LOW;
digital Wite(L)y HGH);
digitalWite(M H GH;
digital Wite(N, H GH);

/1 1'F VALUE READ FROM Q I S 0, SW TCH PRESSED W LL BE 3

read_val ue=di gital Read(Q;
i f(read_val ue==0)
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/1 Display 3 in seven segnment display, D3 D2 D1 DO (0 0 1 1)
digital Wite(LE, LOWN; // Displayed nunber will change if LE is LOW
digital Wite(DO H GH);
digital Wite(D1, H GH);
digital Wite(D2, LOW;
digital Wite(D3, LOW;
digital Wite(LE, HHGH); // Displayed number will not change if LEis H CH
del ay(500);
goto | abel;

/[l SEND LONTO L AND HHGH TO K, M AND N
digital Wite(K, H GH;
digital Wite(L, LOW;
digitalWite(M HGH;
digital Wite(N, HGH;

/1 I'F VALUE READ FROM Q IS 0, SWTCH PRESSED WLL BE 6
read val ue. digital Read(Q;
i f(read_val ue==0)

/'l Display 6 in seven segnent display, D3 D2 D1 DO (0 1 1 0)

digital Wite(LE, LON; // Displayed nunber will change if LEis LOW
digital Wite(DO LOW;

digital Wite(Dl, H G);

digitalWite(D2, HG;

digital Wite(D3, LOW;

digital Wite(LE, HHGH); // Displayed number will not change if LEis H CH
del ay(500);

goto | abel;

// SEND LONTO M AND HHGH TO K, L AND N
digitalWite(K, HGH;
digital Wite(L, H GH;
digital Wite(M LOW;
digital Wite(N, H GH;

/1 I'F VALUE READ FROM Q IS 0, SWTCH PRESSED WLL BE 9
read_val ue=di gi tal Read( Q) ;
i f(read_val ue==0)

/1 Display 9 in seven segnent display, p3p2pD1 DO (100 1)
digital Wite(LE, LON; // Displayed nunber will change if LEis LOW
digital Wite(DO H GH);

digital Wite(D1, LOW;

digital Wite(D2, LOW;

digital Wite(D3, H GH);

Page 7



keypad code

digital Wite(LE, HHGH); // D splayed nunber will not change if LE is H GH
del ay(500);
goto | abel;

/1 SEND LONTO N AND HHGH TO K, L AND M
digital Wite(K, H GH;
digital Wite(L, H GH;
digitalWite(M HGH;
digital Wite(N, LOW;

/1 I'F VALUE READ FROM Q IS 0, SW TCH PRESSED W LL BE #
read val ue=di gital Read(Q;
'j.f (read_val ue=-0)

goto | abel;

else if(Rvalue=0) // IF ANY SWTCH IN SWTCHES A, B, C and D | S PRESSED R val ue
W LL BECOMVE O

{

/1 SEND LOWTO K AND HHGH TO L, M AND N
digitalWite(K, LOW;
digital Wite(L, H GH;
digitalWite(M HGH;
digital Wite(N, H GH);

/1 1'F VALUE READ FROM R IS 0, SWTCH PRESSED WLL BE 'A
read_val ue=di gi t al Read(R);
i f(read_val ue==0)

goto | abel;

/1 SEND LONTO L AND HHGH TO K, M AND N
digital Wite(K, H GH;
digital Wite(L, LOW;
digitalWite(M HGH;
digital Wite(N, H GH;

It IF VALUE READ FROM R IS 0, SWTCH PRESSED WLL BE 'B
read val ue=di gital Read(R);
i f(read_val ue==0)
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goto | abel;

/1 SEND LONTO MAND HHGH TOK, L AND N
digitalWite(K, HGH;
digital Wite(L, HGH;
digitalWite(M LOW,;
digitalWite(N, H GH);

/!l I'F VALUE READ FROM R IS 0, SWTCH PRESSED WLL BE 'C
read_val ue=di gi t al Read(R) ;
1f (read_val ue=0)

goto | abel;

// SEND LONTO N AND HHGH TO K, L AND M
digitalWite(K, H GH;
digitalWite(L, HGH;
digitalWite(M H GH);
digitalWite(N, LOW;

/1 I'F VALUE READ FROM R IS 0, SWTCH PRESSED WLL BE 'D
read_val ue=di gi t al Read(R) ;
i f(read_val ue=0)

goto | abel;
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